
Multiple files are bound together in this PDF Package.

Adobe recommends using Adobe Reader or Adobe Acrobat version 8 or later to work with 
documents contained within a PDF Package. By updating to the latest version, you’ll enjoy 
the following benefits:  

•  Efficient, integrated PDF viewing 

•  Easy printing 

•  Quick searches 

Don’t have the latest version of Adobe Reader?  

Click here to download the latest version of Adobe Reader

If you already have Adobe Reader 8, 
click a file in this PDF Package to view it.

http://www.adobe.com/products/acrobat/readstep2.html




SECTION A-A
SCALE 1.5


SECTION B-B
SCALE 1.5


1


1


2


2


3


3


4


4


A A


B B


C C


D D


SHEET 1 OF 1


DRAWN


CHECKED
narosenberg 10/29/2008


DWG NO


MI-00013
SIZE


C
SCALE


FIRST
200 Bedford Street, Manchester, NH 03101


(603) 666-3906 -- FAX (603) 666-3907


REV


UNLESS OTHERWISE SPECIFIED


FRAC.


.00


.000


+/- 1/32


+/- .01


+/- .005


TITLE


Pan Plate


TOLERANCES: (INCHES)


ANGULAR +/- .25 Deg.


A


A


B


B


.000


.617


.720


1.358
1.458


2.002
2.095
2.220


2.906


3.305
3.355
3.605


.000


.066 (3 pl)


.300.819


.062 (3 pl)


.300 .819


.000.250.312.500 .250 .312 .500


R.031 Typ All


n.170


2.933


n2.200


R1.550


.000


.082 (2 pl)


.300.819


.066 (2 pl)


.300 .819


.000


.617


.748


1.810


1.970


2.013


2.220


2.906


3.305


3.852
3.900
4.150


.000.201.250.312.500 .201 .250 .312 .500


.819


1.638


Notes:


1. All dimensions in inches
2. Fabricate from 5052 Al, 14ga
3. Remove all burrs and sharp edges


n.116 (8 pl)


n.510


R.063








1


1


2


2


3


3


4


4


A A


B B


C C


D D


SHEET 1 OF 1


DRAWN


CHECKED
narosenberg 10/29/2008


DWG NO


MI-00014
SIZE


C
SCALE


FIRST
200 Bedford Street, Manchester, NH 03101


(603) 666-3906 -- FAX (603) 666-3907


REV


UNLESS OTHERWISE SPECIFIED


FRAC.


.00


.000


+/- 1/32


+/- .01


+/- .005


TITLE


Pan Servo Brace


TOLERANCES: (INCHES)


ANGULAR +/- .25 Deg.


Notes:


1. All dimensions in inches
2. Fabricate from 5052 Al, 14ga
3. Remove all burrs and sharp edges


.000


.250


.281


.430


.500


.570


.719


.750


1.000


.000


.200


.800


.387
n.300n.116 (2 pl)


.000 .375 .525 .670 .819 1.069 1.404 1.739 1.989 2.138 2.283 2.433 2.808 n.116 (2 pl)


R.063 (2 pl)


.256


R.031 (all)








1


1


2


2


3


3


4


4


A A


B B


C C


D D


SHEET 1 OF 1


DRAWN


CHECKED
narosenberg 10/29/2008


DWG NO


MI-00015
SIZE


C
SCALE


FIRST
200 Bedford Street, Manchester, NH 03101


(603) 666-3906 -- FAX (603) 666-3907


REV


UNLESS OTHERWISE SPECIFIED


FRAC.


.00


.000


+/- 1/32


+/- .01


+/- .005


TITLE


Pan Tilt Base


TOLERANCES: (INCHES)


ANGULAR +/- .25 Deg.


.000 .188 .750 1.534 1.938 2.341 3.125 3.688 3.875


.000


.188


.250


.309


.750


1.250


1.750
1.904


2.250


2.750
2.813
3.000


1.313


.000


.531


1.500


2.469


R1.375


.000 .738 1.338 1.737 2.138 2.538
3.138


.000


.165


.461


1.500


2.047


2.539


n.688 (6 pl)


n.116 (10 pl)


n.188 (12 pl)


.656


R.063 (4 pl)


R.031 (12 pl)


.063 45 deg, Corner Chamfer, 4pl


Notes:


1. All dimensions in inches
2. Fabricate from 5052 Al, 14ga
3. Remove all burrs and sharp edges


R.049 (4 pl)


1.500


3.000


q


q


q








1


1


2


2


3


3


4


4


A A


B B


C C


D D


SHEET 1 OF 1


DRAWN


CHECKED
narosenberg 10/29/2008


DWG NO


MI-00016
SIZE


C
SCALE


FIRST
200 Bedford Street, Manchester, NH 03101


(603) 666-3906 -- FAX (603) 666-3907


REV


UNLESS OTHERWISE SPECIFIED


FRAC.


.00


.000


+/- 1/32


+/- .01


+/- .005


TITLE


Axis Case


TOLERANCES: (INCHES)


ANGULAR +/- .25 Deg.


Notes:


1. All dimensions in inches
2. Fabricate from 5052 Al, 14ga
3. Remove all burrs and sharp edges


.000 .688 1.257 1.827 2.515
.000.6311.200


n.315


n.116 (2pl)


.000


.665


1.000


1.335


2.060


.000


.295


.563


1.497


1.765


.125 45deg Chamfer (4pl)


n.153 (2 pl)


n.170


R.031 (4 pl)


R.063 (2 pl)








1


1


2


2


3


3


4


4


A A


B B


C C


D D


SHEET 1 OF 1


DRAWN


CHECKED
narosenberg 10/31/2008


DWG NO


MI-00017
SIZE


C
SCALE


FIRST
200 Bedford Street, Manchester, NH 03101


(603) 666-3906 -- FAX (603) 666-3907


REV


UNLESS OTHERWISE SPECIFIED


FRAC.


.00


.000


+/- 1/32


+/- .01


+/- .005


TITLE


Pan Tilt Assy
TOLERANCES: (INCHES)


ANGULAR +/- .25 Deg.


Parts List
DESCRIPTIONPART NUMBERQTYITEM


Pan PlateMI_0001311
Pan Servo BraceMI-0001412
Pan Tilt BaseMI-0001513
Axis CaseMI-0001614


Camera15
Hitec Servo26


1/4" Nylon SpacerSpacer47
4-40 KEPS Nut168


Cross Recessed Pan Head
Machine Screw - Type II


4-40 x 3/8" Zinc Plated Screw89


Cross Recessed Pan Head
Machine Screw - Type II


4-40 x 1/2" Zinc Plated Screw410


Cross Recessed Pan Head
Machine Screw - Type II


4-40 x 3/4" Zinc Plated Screw411


Cross Recessed Pan Head
Machine Screw - Type II


8-32 x 3/8" Zinc Plated Screw112


8-32 NYLOCK Nut113


4


1


12


13


5


9


8


9
8


8


9


11


7
8


6


8


9


3


8


10


2


6





